
PHYSICS 2D QUIZ 1 FALL QUARTER 2009 
PROF. HIRSCH  OCTOBER 2nd, 2009 

Formulas: 

! 

Time dilation; Length contraction :  "t = #"t'$ # "tp    ;       L = Lp /#        ;  c = 3%108
m /s  

! 

Lorentz transformation :

                       x'= "(x # vt)                                                              x = "(x'+vt')

                       y'= y ,   z'= z                       " =
1

1# v 2 /c 2
              y = y',   z = z'

                       t'= "(t # vx /c 2)                                                         t = "(t'+vx' /c 2)

 

! 

Spacetime interval :  ("s)2 = (c"t)2 - ["x 2 +"y 2 +"z2]   
  
 
 
Justify all your answers to all problems 
 
 

Velocity transformation :

                       ux' =
ux ! v

1 ! uxv / c2
                                                        ux =

ux' +v

1+ ux ' v / c2

                      uy' =
uy

" (1 ! uxv / c2 )
                                                     uy =

uy '

" (1 + ux ' v / c2 )


